l’\lﬁq%&l’\lﬁvi )7? %*L’Tjgk\‘%‘
TI09 EEF 2 F DX AL F Y (BE S ERRVYCER
g2 f%ﬁ@ﬁﬁzﬂﬁfﬁéiﬁJ ﬁ%‘,ﬁ,p@ ¢
= TS
PR o108 & 112 26 p (&4# =) 09:30-12:30
BOBE BT ek 4 103 € 33 (330 PSRBT 4 TR 14T 5)

7 &* Az = A
09 : 30
| - R S
09 : 35
09 : 35
| A pRE R B A &
09 : 40
09 - 40 TR E P
| (GFHEEBILER ~ £22 50 Pt %
10 00 BRI FERAED)
10 : 00 N
A B H T S ok %’%"? ?l‘mﬁﬂ«nemﬁﬁ
. | 30 VA ERH IS 3 '3 ‘}leﬁﬁﬁ
11:30 PLERGFEHKSZ g
108 RS RS 2GR = Fff f%‘%‘fh
12 00 B ,ﬁ*‘ﬂ]"—'- R =
12 : 00
| e A Forh g A &
12 : 30

FLH - HE1IH




